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3. HERFETT
(1) BT
D28 E & M (ke) (K] M=| 137 kg
QKBTS W (kN) (E/KEF) W=M x 9.80665/1000=| 1.34 |kN
QT 2R DHEZEDIE: L (cm) L=| 474 |cm
@RI T E2HRDHEEEEDMIE : Lg(cm) Le=| 172 |cm
GOHEDEDES hglem) he=| 950 |cm
(2) B S &R
OEBE = M (kg) Me=| 147 |ke
QEMEEE W (kN) We=M; X 9.80665/1000=| 1.44 |kN
QBT HIHRADEBERS L-(cm) Le=| 740 |cm
@EBESE he(cm) he=[ 120 |[cm
4. MEFE
(D EREAKEEE Ky Ky= 0.4
(2) BEHRBRERE Ky Ky=1/2xKy=| 02

NERRIREA-a8 1 TERBIEMD
(B)REFE—A2E:A(kN=cm)
A= (1-Ky)* ((Lg+ (Le—L) /2) ¥W+ (Lg/2) ¥Wg) = kN+cm

(4) B5EIE—A bk :B(kN-cm)

B=K*((he+hg)¥W+ (he/2)¥W) =[ 610 ]kN-cm
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